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Q-1. Divide : 

a.   38 ÷ 3 3 12 
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b. 45 ÷ 4 
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5 Q = 11 

-4 R = 1 
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c.   86 ÷ 2 2 86 43 
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e.. 82 ÷ 6 6 82 13  
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-18 R = 4 
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h. 72 ÷ 7 7 
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Q = 10 

R = 2 

 

Q-2. Ayesha spends Rs 96 on 8 pencils . How much did she pay for each 

pencil? 

 Sol : Cost of 8 pencils = Rs 96 

Cost of 1 pencil = 96 ÷ 8 = Rs 12 8 12 
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Q-4. A week has 7 days . How many weeks are there in 84 

days?  

Sol : Week in 7 days = 1 

Weeks in 84 days = 84 ÷ 7 = 12 

Q-5. A bus has 52 seats . Find the total no of rows in bus if each row 

has 4 seats. 

Sol : Total seats = 52 

No of rows for 4 seats = 1 

No of rows for 52 seats = 52 ÷ 4 = 13
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